
Vypočtěme např. (arctgx)′ pro x ∈ R. Předpoklady věty o derivaci inverzní funkce jsou splněny;

podle vzorce f/J−1′(f(x0))=
1

f ′(x0)
dostaneme

(arctgx)′=
1

x2+1
.

Užitečná tabulka derivací:

(xα)′ = αxα−1 pro α∈R, x >0, (ex)′ = ex   pro  x ∈R,
1
x 

 pro(ln x)′ =             x >0,(ax)′ = axln a  pro a >0, x ∈R,
(sin x)′ = cos x  pro x ∈R,
(cos x)′ =−sin x  pro x ∈R,

(sinh x)′ = cosh x   pro x ∈R,
(cosh x)′ = sinh x   pro x ∈R,

(tgx)′=
1

cos2x 
pro x∈R,x6=π

2
+kπ, k∈Z, (tghx)′=

1
cosh2x

∀ x∈R,

(cotgx)′=−
1

sin2x 
 pro x ∈R, x 6= kπ, k ∈Z, (cotghx)′=−

1
sinh2x

∀ x∈R−{0},

(arcsinx)′=
1√

1−x2
 pro x ∈ (−1,1), (argsinhx)′=

1√
1+x2

∀ x∈R,

(arccosx)′=−
1√

1−x2
 pro x ∈ (−1,1), (argcoshx)′=

1√
x2−1

 pro x >1,

(arctgx)′=
1

1+x2 pro x ∈R, (argtghx)′=
1

1−x2  pro x ∈ (−1,1),

(arccotgx)′=−
1

1+x2  pro x ∈R, (argcotghx)′=
1

1−x2 prox∈R−〈−1,1〉.
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